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 GROUP I MAIN - 2023 
SIMPLE INTEREST ASSIGNMENT 

 
 

1. In what time will ₹ 8000 amount to ₹ 8360 at 6% per annum simple interest?  

Mz;Lf;F 6% jdp tl;bapy; ₹ 8000 vt;tsT fhyj;jpy; ₹ 8360 Mf khWk;? 
 

2. Aravind borrowed a sum of ₹ 8,000 from Akash at 7% per annum. Find 
the Simple interest and amount to be paid at the end of two years. 

mutpe;j; vd;gth; ₹ 8000 I> Mfh~; vd;gthplkpUe;J Mz;Lf;F 7% 
jdptl;b tPjk; fldhfg; ngw;whh;. ,uz;L Mz;Lfspd; Kbtpy; mutpe;j; 
nrYj;j Ntz;ba jdptl;b  kw;Wk; njhifia fhz;f.  

 
3. A man borrowed Rs 8000 from a bank at 8% per annum. Find the amount he has to 

pay after 4 ½ years. 
xU egu; Mz;Lf;F 8% tPjk; 8000 &gha; tq;fpapy; fld; thq;fpdhu;. 4 ½ 
Mz;LfSf;Fg; gpwF mtu; nrYj;j Ntz;ba njhifiaf; fhz;f. 

 
4. Kumaravel has paid simple interest on a certain sum for 2 years at 10% per annum is 

₹ 750. Find the sum.  
 FkuNty; xU Fwpg;gpl;lj; njhiff;F 10% tl;b tPjk; 2 Mz;Lfs; fopj;J ₹ 750 
 I jdptl;bahfr; nrYj;jpdhy;> mriyf; fhz;f.  
  

5. Velan borrowed Rs 60000 from a bank at 9% per annum for 2 years. He lent this sum 
of money to Nilavan at 10% per annum for 2 years. How much did Velan 
gained from this transaction? 
Ntyd; 2 Mz;LfSf;F xU tUlj;jpw;F 9% tPjk; 60000 &gha; tq;fpapy; fld; 
thq;fpdhu;. ,e;j njhifia epytDf;F Mz;Lf;F 10% tPjk; 2 Mz;LfSf;F 
fldhf nfhLj;jhu;. ,e;j guptu;j;jid %yk; Ntyd; ngw;w yhgk; vt;tsT? 
 

6. If Re. 1 becomes Rs. 9 in 60 years at a simple interest, then the rate % per 
annum is  

 jdptl;bapd; fPo; 60 Mz;Lfspy; 1 &gha;> 9 &ghahf khWfpwJ vdpy;> 
 Mz;L tl;b % ahJ?  

 
7. Find the simple interest on Rs 4000 at 7.5% p.a. for 3 years 3 months. Also, find the 

amount. 
3 Mz;Lfs; 3 khjq;fSf;F 7.5%  tl;b tPjk; 4000 &gha;f;F jdp tl;biaf; 
fz;lwpaTk;. NkYk;> njhifiaf; fhz;f. 
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8. Find the simple interest and the amount due on ì 6,750 for 219 days at 10 % per 
annum. 

 ì 6,750 f;f 219 ehl;fSf;F 10% tl;b tPjk; jdptl;biaAk;>  njhifiaAk; fhz;f.  
  

9. Find the rate of interest when Rs 800 fetches Rs 130 as a simple interest in 2 years 6 
months. 
2 Mz;Lfs; 6 khjq;fspy; &.800 MdJ jdp tl;bahf &.130 jUfpwJ vdpy; tl;b 
tPjj;ij fhz;f. 

 
10. A principal becomes ₹ 10,050 at the rate of 10% in 5 years. Find the principal. 

Xh; mry; Mz;Lf;F 10% tl;b tPjj;jpy; 5 Mz;Lfspy; ì 10>050 Mf cah;e;jJ vdpy;> 
mriyf; fhz;f.  

  

11. How long will it take a certain sum of money to triple itself at 
1

13
3

 % per annum 

simple interest? 

xU Fwpg;gpl;l njhif Mz;Lf;F 
1

13
3

% jdp tl;bapy; %d;W klq;fhf mjpfupf;f 

vt;tsT fhyk; MFk;? 
 

12. Stephen invested ₹ 10,000 in a savings bank account that earned 2% 
simple interest. Find the interest earned if the amount was kept in the 
bank for 4 years. 

];Bgd; vd;gth; jdJ tq;fpapd; Nrkpg;Gf; fzf;fpy; ₹  10000 I 2% 
jdptl;b tPjj;jpy; KjyPL nra;jhh; vdpy;> 4 Mz;Lfspd; Kbtpy; mth; 
ngWk; jdptl;b vt;tsT?  

 
13. Find the simple interest on Rs 5000 at 9% per annum for 46 days. Also, find the 

amount. 
46 ehl;fSf;F Mz;Lf;F 9% tPjk; &.5000f;F jdp tl;biaf; fz;lwpaTk;. NkYk;> 
nkhj;j njhifiaf; fhz;f 
 

14. Find the simple interest on 25,000 at 8% per annum for 3 years?  
25,000 ,f;F 8% tl;b tPjk; 3 Mz;LfSf;Fj; jdptl;b fhz;f.  
 

15. If a principal is getting doubled after 4 years, then calculate the rate of 
interest.  
Xh; mryhdJ 4 Mz;Lfspy; ,uz;L klq;fhfpwJ vdpy;> tl;b tPjj;ijf; 
fhz;f.  


